Warm Up
1. Find the common difference: 5, 12, 19 ...

2. Identify whether the sequence is

arithmetic or geometric: 5, -10, 20, -40

O Epreiy] ;g

3. Solve the following: Iog5z+ logdx = 2k =
b=l (72
4. Identify the center and theyfg)(;us of t@; 2o
following circle: (x - 8)? + (y + 10)? = 144
C 8//[O> K= ]Q\
5. You invest $700 in an account that grows at a
rate of 5.6%. How long will it take for the money

to grow to $1000?

ACT Question of the Day

4. Given f=cd’, f=450, and d = 10, what is ¢ ?

F. 0.45
G. 45
H. I5

J. 45

K. 150

5. You invest $700 in an account that
grows at a rate of 5.6%. How long
will it take for the money to grow to

$10007?
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Series Review - Player/Coach

1. Write the equation of the following:
5,10, 15, ....
On=5+(n-1H5

2. Write the eauation of the following:
12, 36, 108 ...
An=12(37"
3. Find the sum of the following series to 101

terms: 7,4,1 ... D on= -293 &Sn:—%@m*‘a%}
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4. Find the sum of the following to 8 terms:

8,16,32.... S,- 8% 1B ) = BOUO
=N



5. A stadium has designed its seating to
increase every row. The first row has 15 seats,
the second row has 17, and the third row has 19
seats. Find the total number of seats in the
stadium if the stadium has 20 rows.

Ay =53 S = 22(15+53)= 650
6. A game board is designed with a geometric
pattern. The board has 8 squares. The first
square contains 2 circles, the second square
contains 6 circles, and the third square contains
18 circles. How many cwcles are there in total?
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2. Auniversity will only admit students with an SAT scorew
deviations about the average. If the average SAT score is 1010 and the

K= 1)9‘60

HHO= X - 1,010
3. The average score on a biology exam was 76 with a standard deviation of 4
and the average score on a chemistry exam was 72 with a standard
deviation of 7. If a student receives a 79 on the biology and a 78 on the
chemistry, which test does the student do better on compared to the
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How to calculate Z — Scores:

Z- Score:

&randqrd ae v iahen auay frim e rean

Formula: z = —
[

X Vau ed Gompared

N mean

o |Standard devichon

Teacher Examples:

The ayerage speed an the highway is 58 mph with a standard deviation of 4mph.
TN — ~—————

Two cars were traveling at 53 mph and 66 mph. Find the z-score for both

travelers. /(-/l 68 (T—L{‘ % 53 PN '—LO(Q
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